Yearly overview

The yearly overview provides suggested timings for each block of learning, which can be adapted to suit different term dates or other requirements.

	Week 1	Week 2	Week 3	Week 4	Week 5	Week 6	Week 7	Week 8	Week 9	Week 10	Week 11	Week 12
Autumn	Number Place value		Number Addition and subtraction		Number Multiplication and division A		Number Fractions A					
Spring	Number Multiplication and division B		Number Fractions B		Number Decimals and percentages		Measurement Perimeter and area		Statistics			
Summer	Geometry Shape		Geometr Positi and direct	y on tion	Number Decimals		Number <mark>Negative numbers</mark>	Measure Conve units	erting	Measurement Volume		

© White Rose Maths 2022

Step 1	Roman numerals to 1,000			
Step 2	Numbers to 10,000			
Step 3	Numbers to 100,000			
Step 4	Numbers to 1,000,000			
Step 5	Read and write numbers to 1,000,000			
Step 6	Powers of 10			
Step 7	10/100/1,000/10,000/100,000 more or less			
Step 8	Partition numbers to 1,000,000			

























Step 9 Divide by 10, 100 and 1,000

Step 10 Multiples of 10, 100 and 1,000















Step 17

Subtract two mixed numbers













Step 9	Divide with remainders		
Step 10	Efficient division		
Step 11	Solve problems with multiplication and division		

































Step 1	Understand and use degrees			
Step 2	Classify angles			
Step 3	Estimate angles			
Step 4	Measure angles up to 180°			
Step 5	Draw lines and angles accurately			
Step 6	Calculate angles around a point			
Step 7	Calculate angles on a straight line			
Step 8	Lengths and angles in shapes			







Step 9	Regular and irregular polygons
Step 10	3-D shapes









Step 1	Use known facts to add and subtract decimals within 1
Step 2	Complements to 1
Step 3	Add and subtract decimals across 1
Step 4	Add decimals with the same number of decimal places
Step 5	Subtract decimals with the same number of decimal places
Step 6	Add decimals with different numbers of decimal places
Step 7	Subtract decimals with different numbers of decimal places
Step 8	Efficient strategies for adding and subtracting decimals





Step 9	Decimal sequences
Step 10	Multiply by 10, 100 and 1,000
Step 11	Divide by 10, 100 and 1,000
Step 12	Multiply and divide decimals – missing values





















